Areslz_ oIl g S 2o

AL 2212 JMCQs Response Sheet & L &S F et t2 L P 22
ce SIS L P Ll g D P 2B F EMCQs

Jf-u’?
10: 4 21503
Sty e gt 2 K de L7 i1 Al
(el FU T L1973 gl
3200 300(% 280(— 260(
e bl P Ut b Lt il S Lz s GASE TG o e
SASIC e S e ® ()
1 w8 o L1 o e 6 # S 3
e PSS TG WS P SIE @ e e G A e ok s ()
:E (e FL B Lo $e L L F6 420004
EG k@ e n
G a5 £ P g s
SBIEUEG ur el 21 A2 A6 dJC?;i'dLJLM(Jl
:‘L,ﬁuﬁd;gl’f(uhfd//d/uyuideL15uﬁut>@-6
%53.6(> 7533(% #43.2(c 743.1(
e S e <Ol FutoelT
2700 %65(&  #60(— %55(3)
:12;5(71(.,,Uéui‘Jf"lJL/@‘/TKf’v/L?r_LWLJ;"VLuk"”LS
FAEIAC G STl SuTS 4 ()
wﬂ&»ﬂ&;ﬁ’g?/uwu@
g0 F b Frdd @ Frdidede de(C $id fe S T i
50 F A5G b5 189
S e F e $6aS ol L3387 10
QT LaliT G albbs3bigtaiin (@ atbrimle o tlnf J gt ()



MCQs
1 2 3 4 5 6 7 8 9 10
No.
Key - ) & - < ) ) - ) -
&
-

24: 4 F 245 28 1Dy
_u:l/,l/,ﬁiécaﬂlr(ﬁ-g[//./’ a&lﬁﬁéaﬂl/if;&fufd:’@ﬂ-Z
?Q//jauﬁlﬁmiwiuué’.LJ’Lk&ﬁjJ&gémpLgmgr”w,,ﬁgJf.fuy/‘ni-i
(P 1990 I ARy 219 iR
WS LS L L SN L ot
-mu,Lw?(::; J&gémxzagnuyuLuzﬂu;/lg(du)
e SIRSA)G 1S, rw)émpag/;é’.aiﬂ;f Loabr ()

Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks

Each Correct Answer 1

Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Each Correct Answer 1
Three Correct Answers (1+1+1)=3
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Checking/ Marking Hint Marks
Date, designation 1+1
1 Mark for each correct point (1+1+1+1+1+1) =6

_u“/;»u:Jau,Ju?TﬂLwauuﬁJuutuw@A
L BB A sl Ly iR
e bl g § 15 6 S N LSV S Ca s B rieab o @)
_%f@&uzm%g IS e U S s U & /J:(:-“7 Su  Gi)
FT8E P E LS8 u P -t e Qb s § 13S0 e lobor 2 S ol $ s i)
=
-‘aﬁctgggzb“/v,l:»m L/JW:&&U}&:‘L&Z/@U:J}Q uﬁ)ug&um[@:u:h}db&l} Giv)
e Pl g § 5 L ST U s s a0 SIS 2 5L e mEFE S5 W)
e Pl i e S Lo QL BLd” (i)
SUr ) 8 i IAA NI L ontT T 8 5 S s S P PSP S5 i)
_ufF//oUﬁ!£LVZL151&J/JULILJ?:G/@/&WC
&JJL//:’jJ@t/;./,lﬁs.f_;ﬂ;’L;z’r(y“Ku,b.,d:"gé_/(ci}&QK;,A//uﬁwJu:ayxf’JdEg*T (viii)
e (Pl g
_‘Llﬂflyl[.iwu:n,u,%gjﬂcu"r/'Jd/é.%aufégg'gﬂ:}{/g/uir)/ﬁ:u‘YI)J:,UT;,,,«g (ix)
St § LS5 e Uy S e A UNP S LS 2 L st S ASERT" N/ WO €Y

TR
_L@dkg/v/;;d/atb/vuﬁjd/»|4_/J|}¢JWIJL&ug)KJjQ/uﬁufuc&ug/y;‘;:ug;’lfsjp (xi)

Checking/ Marking Hint Marks

1 Mark for each correct point | (1+1+1+1+1+1+1+1)=8
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Checking/ Marking Hint Marks

Each Correct Part Carry 2 Mark | 2(1+1) +2(1+1) +2(1+1) + 2(1+1) =8




